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General Instructions :

(1)  First 15 minutes are all_lotted for the candidates to read the question paper.

(i) Al questions are compulsory. Marks allotted to each question are given against it.
(iii) In numerical questions, give all the steps of calculation.

(iv) Give relevant answers to the questions.

(v) Give chemical equations, wherever necessary.

Y-2) P.T.0.
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[. Four alternatives are given in each part of this question. Write the correct alternative

in your answer-book.

(a) Example of gaseous solution is 1
(A) Solution of camphor in nitrogen.
(B) Solution of hydrogen in palladium.
(C) Amalgam of mercury with sodium.
(D) Oxygen dissolved in water.
P.T.0.
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(b)

(ch

(d)

(e)

MI(KA)

pound of which ransition metal ion s colourlegs 2

Com

Ay Cr

(B) Co*

(C) Ni**

(D) Zn*

Oxidation number of cobalt in K[CO(CO)4] 1S
(A) -1
(B +3
C) -1

(Dy -3

The correct order of increasing acid strength is

(A) Phenol < Ethanol < Chloroacetic acid < Acetic acid
(B) Chloroacetic acid < Acetic acid < Ethanol < Phenol
(C) Ethanol < Phenol < Acetic acid < Chloroacetic acid

(D) Phenol < Acetic acid < Chloroacetic acid < Ethanol

. ' P . ¥ . est "?
Which of the following gives a positive Fehling's solution t

(A) Glucose
(B) Sucrose
(CC) Fat

(1) Protein

[40116]
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- : ithout changing
I Best mcthod o Prepanng primary giines from alkyl Ralides withot g
the number ol carbon atoms 1n the chim 1s

‘AJ

Hofmann bromide reaction

MYy Gabriel's phthalimide synthesis

() Sandmeyer reaction

(D) Reaction with NH1

(%) mmﬁﬁqmsommwmﬁwzm% | A=A %

(@) T3z = fram gugne |
Rl ST R TR e S ——

(9) [MnBr,]* % WWWWWWSB BM ? | 5% A &) SqiRify

FEnf 7 2
(a) In a solution 30 mass percent of benzene is dissolved in carbon tetrachloride.
ion of benzene. ,
Calculate mole fraction o
2
(b) Explain Raoult’s Law.
o ,
j ' ounds are paramagnetic. Explain it.
iti Is and their maximum comp
(¢c) Transition meta
2+ is 5.9 BM. What will be the
i ly magnetic moment value of [MnBr]="1s 3. B
(d) The spin only .» . 2
jon ?
eometry of the complex 10
g ’ P.T.O.
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ta) Write the uses of carbon tetrachlonde and chloroform
thy Botling point of propanol is greater than butane. Fxplam
(¢’ Explain cannizaro reaction with chemical equation.

(d)  What is nucleic acid ? Write two important properties of them

4. (%) uw do Pl rafafes sfufrn ad 2

—— Zn**

2+
ans} + Cu (a (aq

Q) y T Cugg

%1 298 K A9 T A& Soidgis fontg 1.1 V & | & atfifern &Y o firss 39t @

ang Ry &Y o Hif |

(@) frafafys s sffFa s S SR i s d 2

(i) | g
(i) dmM
(i) T
347(KA) [60f16)
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= Wﬂmwmwlmﬁﬂwmﬁmﬁw
e |
TR ? S 3y foy sy o A | 1
(1) HJS
(i) Fe

(iii) 3y

FAYTH :
I w4 | ¢ T 59 1 A 353.23 K R 1 58 g mol! dr e
1.
Bg,wmﬂaﬁéuaﬁmgﬁﬁﬁaimﬁﬁmmmmm.n K 71
2 1 58 % Tore Ferertios 3= fnis ) o iRy | 142

A cell in which following reaction occurs : ' 3
2+ | 2+
Znggy + Cu™ gy —> Zn 4y + Cuy

has standard electrode potential 1.1 V at 298 K. Calculate standard Gibb’s energy

and equilibrium constant of cell reaction.

How do the following factors affect the velocity of reaction ? 14141
(i) Concentration
(i) Temperature
(iii) Catalyst |
p.T.0.

(v-2)
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(c)

(d)

(%)

Describe the method of preparation of potassium permanganate. How does acig
potassium permanganate react With the following ? Give ionic ECIuatio: 1f:;
reaction. "
@) HS

(ii) Fe

(iii) ion

What is elevation of boiling point 7 A liquid has boiling point 353.23 K. The

boiling point of solution becomes 354.11 K after dissolving 1.8 g, non-volatile

solute of molar mass 58 g mol™! to 90 g liquid. Calculate boiling point elevation

constant for the liquid. ' 1+2

33 ¥ Syg-araed 3 Fan H) gk § FEEe | CuSO, % ferewa 1 2.0 RrR
o A 20 e we Aea-Efea o s_%@gmﬁ%ﬁﬁﬁh?waalmwa’m ?

] 2+2

(@) e s it 1 AfaBea 10 Pre 3 20% T A & 1 39F 75% oof 2% § o T

()

(=)

347(KA)

Ty F} AT HIFTT | 4
() PrefaRes ssaegiss Dl & @ fafee: . 1+.1
(x) e v s (1) FARES
(y) drRfRwm grdartaaeie IAE (11)
(ii) [Fe(CN) )+ qem [Fe(H,0)e)>" % a3 fomamt T v 3id 2 | worsmsq |

141
= e bl e 1+1414+1
(i) e s

(i) I=TEe =y

(i) S Y srrfores s

({v) qﬁ@%{.@
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6.

(W Uxplain in brief the Faraday's Jaw of Llectroly!®
. : will be the mass of
r 20 minutes with 2.0 ampere current. What

(b)

()

(d)

34?(“)

.(E

electrolysed fo

precipitated copper at cathode

A first order reaction completes 20% in 10 minutes.

75% completion,

(1) Write formula of the following coordination compounds :
(x) Tetraamine diaqua cobalt (111) chloride

(y) Potassium trioxalato chromate (III)

. jon was
CuSO, solution

2+2

Calculate the time taken for

(i) The colour of dilute solutions of [Fe(CN)]* and [F e(H20)6]2+ are different.

Explain.
Explain the following terms :
(1)  Zwitter ion
(i) Peptide bond
(ili) Primary structure of protein

(iv) Polysaccharides

) e A 6 ded R

() 2-ain-3-afie R

(i) 1, 4SS 25

(i) 182, 2-STERT ST
(iv) 1-sA-2-ferege-2-¢
V) 1-a-2-RiE ai

Agdl

[90f16]
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() + HBr —— °

Ph H H,0,
(it) C=C +HBr ——=—»
H/ \CH;:,

(iv) 06H55r+2Na'+-BrCHZCHICHZCH3—§i§£>

NHz2  NaNO, + HX | |
) > :
273 - 278K

(8) Prichon st 3 s wn wEd § ¢ Y ko st @

foranfafty gwrgmew | https://www.upboardonline.com
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(i) ﬁﬁarﬁri"'am
(i) TR~ e
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= b I.

i .
() 2 C‘hloro-3-methyl pentane
() 1, 4-dibromohut-2-cnc
(1) 1-Bromo-2, 2-dimethy] propane
(i) 1-Bromo-2-methylbut-2-ene
(v)  1-Chloro-2-methyl henzeﬁe

OR

Write the products of the following reactions :

@) +HBr —
H H

CH, - (|: =CH,
(i ©/ gy = THE——

Ph H H,0
(i) Ne=¢” +HB—2—

Dry ether

(iv) C(HsBr+2Na+ BrCH,CH,CH,CHy ———

NH; NaN02+HX
v) U 273-218K

[11 of 16]
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i)

What e yon onderstand by "'7!'}"|fillll1|| reaction 7 Write the

;:I--I;-,ulr.nllnn reaction ol aleohol

(R

Fxplain following reactions with examples |

(1)  Kolbe reaction

() Reimer-Tiemann reaction

(i) Williamson Ether synthesis

1. (%) Poatetora Dt & (UpAC wy fafgu

MT(KA)

-

‘ Z CHO
(i) f
CHy
(i) (CH,),CHCOCHICH,),
(iii) CH,CH(OCH,)CHO
(iv) HOOC (CH,), COOH

o f J/

CH,COOH

(126118

mechanism «of

243
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(A) 3R (B) B TR T N AR S e | 5
@) Fr=fufes sffFnd A, B, ¢ i e T 24241
(1) CH.CH.I NaCX y A OH > B NaOH y C
T Br,
@ CHN.CI—SweN | HOM o NHy .
T A
(CON LiAH
(i) CHCH,Br— DS 5 a——s 008 ¢
Fyan
G e, fds @ g SR s B R w iR e
SffEaT & TaEte ads o fafa | 3
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var o Write ILPAC names ot the lUHU‘.&mg COmpounds : PRI
- +1+14+
3 !
XN CH;

(ii) (CH,),CHCOCH(CH,).
(iti) CH,CH(OCH,)CHO

(1v) HOOC - (CH,), ~OROH

CH.COOH

An organic compound (A)}Wwhich has molecular formula C,H,0. produces orange-

OR

red precipitate with 2, 4-dimitro pheny ! hydrasine (2. 4-DNP) reagent and forms a
yellow precipitate on heating with iodine in presence of sodium hvdroxide This

compound does not reduce Tollen's reagent or Fehling's solution and decolours
Br.-water or Bacyer’s reagént. It forms a carboxylic acid (B) by strong oxidation
with chromic acid, which has molecular formula (.H O, Recognise compound

(A and {B) and explain the reactions involved in

5

thy  Gnve the structures of A, B, C i the following recactions 2+24+1
NaCN OH NaQ» .
m CH,CH. I _NuN - A ' B El.'—'!— +C

- N HOW NH,
o CHNC—S 5 A VB s

_ . N LiAM HNO),
fan) LHJ,H?Bt—-—-,}L e N ‘5B 271'1(;._'(
OR
3MT(KA) [ 140 18
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(1) Describe the method of identification of primary, secondary and tertiary

amines. Write the chemical cquations of these reactions also. 3

(i) The boiling points of amines are lower than their comparable alcohols and

carboxylic acids. Explain. 2

[150f16] (Y-2)
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